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2. BE7E2RHT [ ]ote] gure 5 AgE & AL o
A7
87
6.34 = 6 + 0.3 + 0.04
372 =] |+ |+ \
D 3,7,2 @ 3,0.7,0.2 ® 3,0.7,0.02

@ 30,7,0.2 ® 30,0.07,0.02



0.006-[ ]-0008-] ]

@ 0.07,0.09

@ 0.0065,0.0085

@ 0.007,0.009

® 0.007,0.0085

@ 0.0065,0.008
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ohg Fol A AL Ak A 2 AL o] AA T L.

@® 1.007 + 2.06 @ 0.936 + 2.87 ® 3.02+0.98

@ 5.61 + 1.907 ® 6.75+1.98



7.05
—1.982



(1) 3.6km +2607m =] __ |km
(2) 2130m 4+ 0.49km = Jkm

@ (1) 6.217 (2) 2.52 @ (1) 6.217 (2) 2.62
@ (1) 6.207 (2) 2.52 @ (1) 6.207 (2) 2.61

® (1) 6.207 (2) 2.62




(1) 28cm = Dm
(2)6m75cm = Dm

@ (1) 0.028 (2) 0.675 @ (1) 0.028 (2) 6.75
® (1) 0.28 (2) 0.675 @ (1) 0.28 (2) 6.75

® (1) 2.8 (2) 0.675
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